MAt Health ShakA
15P/211/30]| (3 338

Question Bocklet No, ...

(To ke filled up by the candidate by blue/black ball-point pen)

§ 1 i ! H : .F I —[
Rell Ne.
{Write the digits in words) ...

Seria’ No. of OMR Answer Sheet o

B L (Signature of Invigilator)

1.

9.

10.

.

1
13.
14.

INSTRUCTIONS TO CANDIDATES
(Use only Blue/black bail-point pen in the space above and on toth sides of the Arswer Shest)

Within 10 minutes of the issue of the Question Booklel, check the Queslion Booklet to
ensure that it contains all the pages in carrect sequence and that no page/guestion is
missing.  Ino case of faulty  Question Booklet bring it to the notice of  the
bupermtendent/Invigilators immediately to obtain a fresh Question Booklet.

iJo not bring any loose paper, written or blank, inside the Examination 11all ¢ veept the
Admit Card witiront its envelape, '

A separate Answer Sheet is given. It should not be folded or mutilated. A second Ansiwer
et shail not be provided. Osly the Answer Sheef will be evalnated,

Write your Roll Number and Serial Number of the Answer Sheet by pen in the space
provided above, ‘

(n the front page of the Answer Sheet, write by pen your Roll Number in the space
provided af the top, and by darkening the circles at the battom. Alse, wherever applicable,
ierite the Question Booklet Number and the Set Number in approprinte places.

Nt m'erwril:in%‘ is allowed in the entries of Roll No., Question Booklet No. and Set No.
(1t any) or OMRE sheet and alsa Roll No. and OMR sheet No. on the Queslion Booklet.

Any changes in the aforesaid entries is o be verified by the invigilator, otherwise it will be
tiken as unfairmeans.

Fach guestion in this Booklet is followed by four altemative answers. For each guestion,
you are to record the correct option on the Answer Sheet by darkening the appropriate
cirele in the corresponding row of the Answer Sheet, by ball-point pen as mentioned in the
guideliites given on the first page of the Answer Sheet.

For each guestion, darken only one circle en the Answer Sheet. If you darken more than
one circle or darken a cirele partially, the answer will be treated as incofrect.

Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a
question, leave all the circles in the corresponding row blank (such question will be
awarded zero marks), .

For rough work, use the inner back page of the title cover and the blank page at the end of
this Booklet.

Deposit only the OMR Ansiver Sheet at the end of the Test.

You are not permitled te leave the Examination Hall until the end of the Test. :

If a candidate attempts to use any form of unfair means, he/she shall be liable to such
punishment as the University may determine and impose on him / her.

[ Py e 4 o sy ax B T # ]

Total No. of Printed Pages : 22






15P/211/30
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Note: (1) Attempt as many questions as you can. Each question carries; 3 marks. One
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3.

mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.
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(2) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.
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The data given as 5, 8, 10, 11, 13, 15 will be called as :
(1) time series (2) anindividual series

(3) a continuous series (4) a discrete series

Which of the following variables which are measured on a nominal scale.
(1) Age categorized as young, middle-aged or old

(2) Ethnic group

(3) Social class (1/1[/111 - N/IIT -M/IV/V)

(4) Height incm

If standard deviation of Hb levels of two groups of children are equal, then the
mean of both the groups :

(1) will not be equal (2) will also be necessarily equal

(3) may not be necessarily equal (4) will be equal to zero

(1) P.T.O.
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4.

10.

11.

12.

In a set of & observations 8, 12, 40, 15, 35, 25 the value of median is :

(1) 20 {2) 15 (3) 40 (4) 25
Data can be well displayed or represented by wav of :

(1) cross classification . {2) two or more dimensional table
(3) stem and leaf display {4) all the above

A frequency distribution can be :

(1) discrete {2) continuous

(3) both (1) and.(2) {4) none of (1) and {2)

In an ordered series, the data are :

(1) in descending order {2) inascending order

(3) either (1) or (2) (4) neither (1} ar (2)
Choice of a particular chart depends on :

(1) the purpose of the study {2) the nature of data

(3) the type of audience (4) all the above

[F the birth weight of each 10 babies born in a hospital in a day is found to be
2.8 kg then standard deviation of this sample will be :

(1} 28 2y 2.8 (31 i4) O

In a bar diagram, the base line is :
(1} horizontal - (2) wverhical

(3) false base line (4) any of the above

Pie-chart represents the components of a factor by : .

(1) percentages {2) angles (3) sectors (4) circles

The most. appropritate diagram to represent the data relating to the monihly
expenditure on different items by a family is :

(1) histogram 2) pie-diagram

(3) frequency polygon (4) line graph

(2)
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Histogram can be used only when :

{1) class intervals are equal or unequal
(2) class intervals are all equal

(3) class intervais are unequal

(4) frequencies in class intervals are equal

For a positively skewed data :
(1) mean < median (2) mean = median
(3) mean > median (4) median = 2 mean

For a certain moderately skewed distribution mean = 24.5 and median = 26.2.
Tts mode is :

(1) 1.8 .:z‘) 25.4 (3} 5038 (4) 29.9

In a dmmbutmn; if mean = 3.8, mode = 1.2 and standard deviation = 2.0, thr‘:n
the coefficient of skewness is :

1) 0.6 2 13 (3) 1.9 (4) 2.6

If the first and third quartiles are 30 and 70 respectively then the coefficient of
dispersion will be :

(1) 04 () 7/3 (3) 377 {4) 50

The positional measure of central tendency is :
(1) Median (2} Arithmetic mean
(3) Harmonic mean (4} Geometric mean

A normal distribution will necessarily have :
(1) one mode (2) two modes
(3) three modes (4) four modes

If the coefficient of kurtosis r, of a distribution is zero, the frequency curve is |

(1) leptokurtic (2) platykurtic
(3) mesckurtic (4) none of these

(3) P.T.O.
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A person goes to office at the speed of 10 km/hor and returns home at thie.
speed of 15 km/hour. His average speed is :

(1) 125 (2) 12 (3) 13 (4) 14

Arithmetic mean of the regression coefficients is - greater than :

(1) The correlation coefficient o
(2) Double of the correlation coefficient

(3) Unity

(4) The half

If regression lines are 8x ~ 10y + 66 = 0 and 40x — 18y = 198, then the mrrelahnn
coefficient between x and y is :

(1) 0.5 (2) 06 (3) -0.6 {4 08

The coefficient of correlation between x and y is 0.6. Their covariance is 4.8. The
variance of x is 9. The standard deviation of yis:

4.8 0.6 3 4.8
2 3
) 3x0.6 & 48x3 (3) 48x048 ) 9x0.68

Variance of two independent variates x and y are same. The correlation
coefficient between x and (:t' -y)is:

1

1) 0 2 3) = 4
1 @ = @ 3 @ 1
Given r; =06, 13 = 0.5 and 7,3 = 0.8, the value of ry, 5 is :

(1} 0.4 ) 0.72 ~ (3) 038 (4) 047
There will be only one regression line in case of two variables if :

(1} r=+1only (2) 7=-1only

(3) riseither+1or-1 (4) r=0only

When one regression coefficient is negative the other would be :
(1) negative (2} positive (3) zero ‘(4) none of these

In a trivariate population r, = 0.7, 7,3 = 0.6 and r,, = 0.5, then the value of Rixn
is: :

(1) 057 {2) 0.84 (3) 0.74 4) 050
(4)
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If the regression of y on x and that of x on y are given by 2y = - 4x + 6 and
16x = - 2y + 6 respectively, then the correlation coefficient between x and y is :

1) -09 Q2) 5; (3) 0.25 (4) —05
The standard error is : ,

(1) error in measurement

(2) observer error

(3) measure of variation in sampling means

(4) measure of variation in quantitative observations

Weight at birth of randomly selected 100 newborn babies follows normal
distribution with mean 2800 gm. and standard deviation 300 gm. How many
newborn babies are expected to have weight more than 2500 grn.

(1) 95 C(2) 84 (3) 68 (4) 32

The differences in weight of newborn babies are to be tested in three groups of
gestation, the best test is :

(1} Z-test (2) t-test

(3} paired t-test {4) analysis of variance

After the study 900 randornly selected Indian pregnant women it was estimated
that 36% were anaemic, then the standard error of the estimate is :

(1) 4.8% (2) 3.2% (3) 2.6% 4) 1.6%

What is the value of 'n’ for Bionomial distribution with mean = 3 and
variance =27
(1) 12 2) 6 (3) 3 (4) 4

Which distribution does not possess the additive property in general ?
(1) Poisson (2) Normal (3) Gamma (4) Binomial

Which of these are the suitable condition for the Poisson distribution to be a
limiting case of Bionomial distribution :

() no>x,p-=>0

(2) 1 -, p—> 1, np— Mis finite +ive real number

(3) # -, p - 0, np —> Ais finite +ive real number

(4) n—» o, p = 0, np — kis an infinite +ive real number

{(5) P.T.O.
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For negative Binomial distribution, which of these is a correct statement -
(1) mean > variance (2) mean = variance

" (3) mean < variance (4) mear is always zero

The mean and va_riance of a distribution is':a'ame, then the distribution is :
(1) Normal (2) Poisson (3} Uniform {4) Binomial

Given that (4} = é. P(B) = % P(A|B) = -:];,the probability P(B] A) is equal to
s 1 . 2 1 '
1y = 2) = 3) = 5.

(1} 3 (2) g (3) 3 (4) 12

A probability curve ¥ = fix} range from 0 to «. If fix) = ¢, the mean of the
distribution is :

(1) 2 ) 1 (3) % ) L

For the following probability density function :

fiy=c¥ (1-x)0<x<1
The value of constant ¢’ is :

1) 13 - (2) 11 (3) 12 (4) 14

A continuous random variable x has the probability density function :
fixy=A+Bx,0<x<1

If the mean of the distribution is % then the values of (A, B) is :
1 % . 1
) (1,0 @) [E 0] 3 ©1) (@) [0, EJ

Two dice are tossed. The probability that the sum of the points on the dice is
greater than 8, is :

s B 11 | 7
0 % @ =5 & 5 @) =

The probability of getting a son is 0.5, then the probability of getting all
daughters in three deliveries is :

(1) 0.50 (2) ©.125 (3) 0.250 (4) 0.80

(&)
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Joint probability distribution function F{x, y) lies within the limits :

v T

Y L . e
1y = V<, yx, L {‘.J' L Cia-fr: i

(3) —xw<Fx, y) <0 4y 0<Fx, y) <
It the joint probability density function of X and Y is:
fx, ) = %{3 ~x-y); 023l 0=spy=1

then the :narginal probability density function of Y is

N o175 3
) Liyy=1 N == 2oy
(L) £l . (2) Foly) 1!\2 g
3) flw=3-y @ A=y g

A random vanable X has uniform distribution over the interval {- 1, 3]. The
vanance of X is:
1 2 (2)

-

1

3 4
4

(3)

. 7
1y =
4 3

; . H . 3 ; 11 ;
Given that if P(A) = T P{B) = 3 and P(A w B) = = then P(B|A}is:

. 1 + . | 1.
1 - — 3 — P
1) : (2) 3 (3) 5 () 3

{et the joint probabilitv mass function of (X, Y) be:

. X+
e }= = =1,2,3; =]r2
R yy= = =% ¥
=5 atherwise
tnen P(X = 3) 1s:
.3 .4 1 4
1y = - 3 — 4y =
= [zjg. o 3 3 W 7

The Bionomial distribution :

(1) is the distribution of a continuous random variable

(2) is always symmetrical

(3) is used for making inferences about proportions

(4) can be used to approximate the Normal distribution .in cerftain
circumstances

(7) PT.0.
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$2. Which distribution is the proportion of individuals with a disease who are
successfully treated with a new drug likely to follow ?

(1) F-distribution (2) Normal distribution
(3) Poisson distribution (4) Bionomial distribution

53. The value of P(X > 1) for the following function is :

~ -

xr 0 1 2 3 va
Plx) : 0103 05 01
(1) 06 (2) 0.9 (3 1 (4) 0.4

54.  Given the joint probability density function of x and y as :
fx, y)=4xy,05x<1,05y<1

=0, otherwise

¢ ' '
thEP[O-s:x«:-l,lqu:l}fisequa]to:

\ 2 2 J

3 3 : 5 1
1) = 2) — Pl e
(1) 5 (2 T (3} 16 (4) 2

56. A random variable X has the following probability mass function :
x =2 =1 0 1 2 3
Px) + 01 &k 02 2k 03 «k
the mean of X is:
(1) 0.6 () 05 (3) 0.8 (4) 0.25

56. If E(statistic) = Parameter, then statistic is.said to be ;
(1) negatively biased estimate (2) positively biased estimate
(3) an unbiased estimate (4) none of these

S7. Let Fy, ., , represent an F-variate with #, and n, degrees of freedom. If n, = n,,
the median of F-distribution is at : -

ujp=% 2) F=2 @ F=1 (% F=15

(8)
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In case of 4 x 3 contingency table, the degree of freedom for y*-statistic is :
(1) 7 2y 3 (3) 4 4 6
Which of the following hypothesis testings is based on F-statistic ?

1) o’=0, (2 py=p: (3) p=py . 4) o’ =0y

The mode of the F-distribution is always :
(1) greater umity {(2) less than unity.
(3) zerc 4) -1

The standard error of observed sample proportion g’ is:

JP PQ

a 22 @ 2 B @ £

H H n H
The test associated with the comparison of more than two means is :
(1) t-test (2) Z-test (3) y-test (4) F-test
To test the goodness of fit the following test may be used :
(1) Chi-square test (2) F-test (3) t-test (4) Z-test
The probability of type-II error is :
1) B (2) w (3) 1-P 4 1-«a

The probable limits for populaiion proportion ‘P are given by :

Wpts . @p22 @ pia\[ﬂf @ q23 2L

For a two-tailed test if | Z|> 1.96, Hyip = iy is::

l(l) accepted at 5% level of significance

(2) rejected at 5% level of significance
(3) accepted at 1% level of significance
(4) rejected at 1% level of significance

For practical purposes, sample may be regarded as large if :
{1) n<30 (2) 5<n<30 (3) n>30 (4) none of these

{9) P.T.Q.
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In plants that fix nitrogen symbiotically, deficiency of this element leads to
reduced nitrogen fixation

(1) Mo {2) Mn (3) Cu (4) 2n

A facultative parasite _

(1} is essentially a saprophyte but can also live as a parasm:
(2) always lives as a parasite

(3} never causes discase in a hﬁut :

{4) can onily live as a saprophyte

A clear area in the lawn of growing bacterial cells initinted upon bacteriophage
infection is called L

(1) inhibition zone (2) plaque
(3) halo : (4) colony forming unit
Water

{1) can give up an H*, becoming OH-

(2} can accept an H*, becoming H,0*

(3) can form hydrogen bonds

(4} All of the above

SARS involves infection of the

(1) gastrointestinal tract (2} urinary tract

(3). respiratory tract | *  (4) genitourinary tract
10
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If there are zero differences in sign test, they may be :
(1) discarded (2) treated half of them as positive
(3) treated half of them as negative {4) all the above

If #, and 1, in Mann-Whitney test are large, the variable U is distributed with
mean :
(1) mmy @ L2

- 3) Ot -n/2 (&) (m+n/2

A test which maximizes the power of the test for fixed level a is known as :

(1) Optimum test (2) Randomized test

(3) Bayes test | {4) Likelihood ratio test
Range of statistic-tis .

() -1to1 L Q) -xtowm (3) Dtoe= (4) Otol
Stratified sampling comes under the category of :

(1) Unrestricted sampling (2) Subjective sampling

(3) Purposive sampling (4) Restricted sampling

If we have a sample of size # from a population of N units, the finite population
correction is : '

2) (N n; (3) (N -n) (4) (n_-—]}
! N

In which of the following situation{s) cluster sampling is appropriate ?
(1) When the units are situated far apart

(2) When sampling frame is not available

(3) When all the elementary units are not easily identifiable

{4) All of the above

If a random sample of size n is drawn without replacement from a finite
population of size 7 with mean p and variance 02 the covariance between any
two members of the sample is :

o2

c° o -1) -1) 2
(2) (3) 5 {4) N

(1) _{h. <1 (N-1)

(11 P.T.O.
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If n units are selected in a sample from N population units, the sampling
fraction is :

= " N 1
a (%2 @ L @ X R |
Under proportional allocation one gets : h
(1} an optimum sample (2} a self-weighting sample
(3} both (1) and (2) {4) neither (1) nor (2)

If the number of population units N is an mteg-ral multiple of sampling size n,
the systernatic sampling is calied :

{1) cluster sampling

(2) stratified sampling

(3) linear systematic sampling
(4) circular systematic sampling

Systematic sampling means selection of n :
(1} contiguous units (2} situated at equat distances
(3) largest units : (4) middle units in a sequence

Regarding the number of strata, which statement is true ?
(1) not more than ten items should be there in a straturn
{2) lesser the number of strata, better it is

(3) more the number of strata, poor it is

(4) more the number of strata, better it is

It the observations recorded on five sampled items are 3 4, 5, 6, 7 the sample
mean square is :

(1) 2.5 ) 3 3) 1 40

Which of the following advantage of systematic sampling you approve ?
(1} easy selection of sample

(2) economical

{3) spread of sample over the whole popu]annn

(4) all the above

(12)
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In usual notations, the systematic sample mean is more precise than the mean
of a random sample taken without replacement if :

(1) 52, >8° @) 8%, <S (B) Bhy =5 YA} 5 =8

If a systematic sample of size 2 is drawn from a population of size nk having a
linear trend, then the variance of mean of a systematic sample is :

¢ -n Lol 1y I o)
() 12n @ 12 3 n (1 k) ) k ! )
_Completely randomized design is analyzed using :

(1) one-way ANOVA (2) two-way ANOVA

(3) chi-square test (4) all the above

The technique of analysis of variance was developed by :

(1) C.R. Rac {2) R.A.Fisher

(3) J. Neyman (4) G. W. Snedecore

In the layout of a randomized block design with seven treatments, each
replicated three times, the needed 21 plots will be grouped into ;

(1) 7blocks of 3 plots each (2) 21 blocks of one plot each

(3) 3blocks of 7 plots each (4) 7 blocks of 7 plots each

In a completely randomized design, there are 15 plots and 3 treatments. The
degrees of freedom associated with error sum of squares is :

(1) 10 (2) 12 (3) 14 (4) 16
Tn a two-way classification with one observation per cell, there are 4 rows and 3

coloumns. The degrees of freedom for the F-test for testing equality of all row
means are :

(1) G.6) (2) (4. 6) (3y 6.3) (4) (6. 4)

In the degrees of freedom of sum of squares due to error in Latin square design
is 6, the nhumber of rows is:
(1) 8 (2) 6 (3) 4 (4) 10

The number of degrees of freedom in a 3 x 3 Latin square design for treatment
is :

(1) 9 @ 6 3) 4 @) 2
(13) P.T.O.
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The interaction action effect cannot be studied if the number of observations
per cell in two-way classification is ;

(1) one (2) two {3) four ~ (4) six

In a Latin square design, let m = number of treatments, k = number of
replications of treatments, then :

{1) m=k 2y m=k (3) m>k (4) m<k

The experimental design in which only both replication and randomization -
principles are used, is ;

{1) Completely randomized design (2) Randomized block design

(3) Latin square design (4) None of these

If the number of sample of size 4 in case of systematic sampling is 8, then the
populaticn size is :

(1) 8 (2) 10 (3) 16 4 3

A population consisting of 24 units is divided into two strata such that N, = 15,

Ny = 4, 8, = 3, §; = 5 in standard notations. If optimum allocation gives », = 4,
then sample size n will be :

(1) 8 (2) 2 (3} 4 4) 6

Which one of the following is net a basic principle of experimental design ?
(1) Randomization (2) Confounding

(3) Local control (4) Replicaiton

[n a 2’ factorial design, the main effect A can be expressed as

(2} < [(abe) + (b) ~(ab) — ac) + (b) + (c) ~ (a) + ()]
(2) 1(abe) + (B) + ab) + (ac) - @) - (o) - )~ (1]
3) liabe)- bc) + (ab) + (20) - ()~ (&) + (o) - (1]
(4) 1 ltabe) + (be) - (ab) + (@) + (b} + (0) — a) - (1}

(14)
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Latin square design is :
(1) complete three-way layout (2) one-way layout
(3) incomplete three-way layout (4} None of these

Which of the following is a contrast 7
(1) 3T,+ T,-3T,+ T, @Y Ty 3T, = 8T, %1,
[f the degree of freedom for error sum of squares in a Latin square design is 30,

then the order of the design is :
(1) 7x7 2) 6x6 (3) 5x5 4) 4x4

The relation between the operators Aand E is :

(1) E=1+4 (2) E=1-4 (3) AE =1 () %=1

I the third difference of a tabulated function is constani, the function is a
polynomial of degree :

(1) five (2) four (3) three (4) two

Let {0) = 1, f{1) = 2.72, then the trapezoidal rule gives approximate value of
j: fi{xydx

(1) 0.8¢ (2) 1.50 (3) 1.72 (4) 1.86

Ity =4y, =12, ¥, =19and y, = 7 then x will be
{1y 142 (2) 168 (3) 1.86 (4) 198

Find the number of students who obtained less than 45 marks, from the
following data :

Marks 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of students 31 42 51 | 35 31
(1) 45 2) 75 (3) 105 4 52

Divided difference method can be used when the given independent variate
values are

(1) atequal intervals (2} at unequal intervals
{3) not well defined "~ (4) all the above

(15) P.T.O.
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The value of £ i ito:
€ value o 'E‘z?'lsequa 0: )

1) ¢ (2y (3) e/(e-1) 4 (e-17)°

The goemterical significance of trapezoidal rule is that the curve y = flx) is
replaced by the :

(1) straight line , (2) parabola

(3) polynomial of degree n (4} None of these

In order to apply Weddle's rule for numerical integration, the minimum
number of ordinates should be :

(1) 14 (2) 12 3) 7 4 6
[f the observed values of x and function #, are :

- 2 6 8 G
.| 158 150 102 93

"

The interpolating function u, is :
{1) ¥©—42% + 80x + 102 (2) £ -182%+ 80x + 294
{3) ¥ - 182 + 80x + 102 (4) x* - 1Bx* + 80x + 300

Bessel's interpolation formula is most appropriate to estimate for a value in a
series which lies :

(1) attheend (2) in the beginning

(3) in the middie of the ceniral interval (4) outside the series

The first divided difference with two arguments x,, x, will be ;

(1) !{xl)_f(xn) (2) ,ﬂxl]“l(xﬁ) [3) fl:xt}]_j':x;:' (4) ![xl}'f(-rﬂ}
O XpXxy Xy — Xy 3

—Xp x{*—xnz

Bessel's and sliriing's' interpolation formulae yield good estimates if the values
of # and v in general lie between :
(1) ~1land +1 2) -05and 1 (3) -05and0.5 (4) Dand1

where u and v have their usual meanings.

(16)
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Let X,, X, and X, be a random sample of size 3 from a normal population with
mean p and variance o. Then the variance of the estimator T, = (X, + X, - X3}
of pis: '

(1) o (2) 30° 3) 20’ 4) {2/3)¢°

Let X, X5/ oeenr , X, be a random sample drawn from a normai population N(y,

1).Then T = lz X? is an unbiased estimator of the foliowing :

i=1l

(1. n @ o (3) pp+1) (4) w+l
If T is an unbiased estimator for 8, then T is :

(1) an unbiased estimator for & {2) a biased estimator for 8
(3) an unbiased estimator for & (4) abiased estimator for 8*

An estimator is said to be sufficient for a parameter, if :

{1) it contains all the information in the sample regarding the parameter
{2) it contains the parameter

{3) it is consistent with all other estimators related to that parameter

{4) none of these

If T, is the most efficient estimator with variance V) and T, is any other
estimator with variance V; then the efficiency of T is given by :
1) V,/ V| (2) Vy/V, 3y Vi+V, 4) V,-V,

The bias of an estimator can be ;
(1) positive (2) negative = (3) zerc (4) all of these
If T, is an MVUE of y(8) and T, is any other unbiased estimator of 7(8) with
efficiency ¢ < 1, then MVUE of y(©) is :
1) T+ T,
1) I S P
(4) no unbiased linear combination of T, and T, can be an MVUE of v(8)
(17) P.T.O.
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If T, and T, are MVU estimators for y(8), then :

{1) T,<T, _ (2) ether T\ < T,0r 7, > T,

{3) T,=T, (4) none of the above

Which one of the fnllewmg is only a large sample criterion in relation to point
estimation ?

(1) Sufficiency (2) Unbiasedness (3) Consistency  (4) Ffficiency

The maximum likelihood estimators are necessarily .

(1} unbiased (2) sufficient (3} most effi-:ient 4) unique

If the variance of an estimator attains the Crammer-Rao lower bound, the
estimator is ;

(1) mostefficient (2) sufficient {3) consistent {4) admissible

If T; and T, are two most efficient estimators with the same variance S2 and the
correlation between them is p, the variance of (T, + T,)/2 is equal to

1y s* (2) pSs? (3 (L+p)S74 (3 (1+p)s2/2
LEI‘ X], Xz, ......... ‘ Xl‘i be d randﬂm l‘,ample. frﬂm a BE[DDU“I popu}.au'ﬁn p1{1 ~ p"l:-.;ri
A sufficient statistics for pis :

(1) ;;'X_, ; (2) E[X.

[3) h’[aX‘:xlf x:; sediLanp X.‘.') {4) Min(xl_, x:, ....... Fl X'i]

Age specific fertility curve is :

(1) highly negatively skewed (2) highly positively skewed

(3) negatively skewed (4) positively skewed

The extent to which mothers produce female infants who survive to replace
them measured by :

(1) crude birth rate (2) total fertility rate

(3) net reproduction rate (4} gross reproduction rate

{18)
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With reference to a life table, which one of the following is frue ?

. d. ) ; 1
(1) L,=1.-d 2) p,=>* (3) d.=1,-1L 4 L =i- 3 dx

X x
!

The general fertility rate is determined by :

! r b ’
(1) 2) pr ik B — () ok
r % Z i P E § P
” 1
where notations have their usual meanings.
Crude Birth Rate (CBR) usually lies between .
(1} 10 and 45 per thousand (2) B and 58 per thousand
(3) 10 and 55 per thousand (4) 12 and 68 per thousand
Gross reproduction rate (GRR} ranges from :
(1) Ota 5 {2) Oto1 (3) Oto 4 (#) 1tod

Net reproduction rate is more viable than gross reproduction rate because :
(1) it takes into account fertility rate as well as mortality rates

(2) it makes use of life tables

(3) it utilizes survival rate

{(4) all the above

A life table consists of :

~

(1) seven columns (2) ¢ight columns

(3} nine columns (4) eleven columns

The sum of annual age-specific fertility rates over the whole reproductive ages
in known as:

(1) peneral fertility rate . (2} crude birth rate

(3) total fertility rate {2) net reproduction rate

Caomplete count of the heads of people of a country is known as:
(1) censuts (2) vital statistics

{3) demography {41 none of the above
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147, Sfandardised death rates are particularly useful for :
(1) comparing the death rates in males and females
(2} comparing the death rates of twa regions
(3} both (1) and (2}
(4) neither (1) nor (2)

148. In a 2*factorial experiment, the eight treatment combinations in a standard

order are

(1) 1,a,b,c, ab, ac, be, abc (2) 1,a, ¢ b,ac, ab, be, abe

(3) 1,a,b,ab,c, ac, bc, abe 4) 1,b,¢ a,ab, ac, be, abe
149. The death rate of babies under one month is known as :

(1) foetal death rate (2) maternal mortality rate

(3) neonatal mortality rate (4) infant mortality rate

150. The child bearing age in India is :
{1) 13-48years (2} 15-49years (3) 20-29 years  {4) 20-24 years

(20)
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